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Honors Precalculus

Unit 3: Trigonometry
Topic: Trigonometry Review
Objective: SWBAT solve various problems using trigonometry.

NO CALCULATOR
Directions: Read each question carefully and show all work.

1) Determine the value of each of the following:
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2) What are the coordinates on the unit circle for each of the following angles?
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3) If an angle intersects the unit circle at the point (— g,% , what is the value for the sine
and cosine of the angle? What could be the measure of the angle?
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4) Simplify each of the following expressions for the given angle.
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5) Simplify each of the following:
secx  sinx /ot y _
R ( Cosx. ~ SN
sinx  cosx :
o Sp%
i i P S N—
1) X Coox -
"o N i _”_e/" ‘4,/



Honors Precalculus [aidl=telilelit=140

sinx—sin3x
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6) Prove each of the following: | +tAc". = sec'x
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7) Solve each of the following equations for x, where 0 < x < 2m:

a) 5V3 — 10sinx =0 b) 3sec’x —1=5

-

£ 6

' (—17{_ e = s’

- T o Y ¢
e T e LAY, B . P~
i x) T § 5 4 = (-

£
AT LY P 1y
Sinx = J3
’\'}\ % / - i
" e
_[T N 1 i
- &1 { ﬁ!rXV B
T LL =il
7 L !
i . i } X/ L«g
L i }
§ et s m———————— i
i R ——
l—

¢) tanxcotx + tanx =0 d) csc?x — cscx = 2

e) 2cos?x +cosx—1=10 f) 5sin?x — 3sinx + 1 = cos?x
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